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ErEE | TR | sxmmesnn| Rx@maE| axTonan| RATHRE FAXIEE 2 e |IHEAR B BE| Bi |I[RMKE|sxasEs|soases| ENEE
m/s m/s m/s % MJ MJ hPa % % %
1:00 | £ & 0.2|F [l 89.8 0 0 0 0 0| 10138 78.2
2:00| & 0.2|FAREIPE el 89.9 0 0 0 0 0] 10137 78.4
3:00(#E & o[F ] 89.3 0 0 0 0 0| 1013.7 78.6
4.00[JLFE 0.6[7&ILFA FadLih 90.1 0 0 0 0 0] 10135 78.8
5:.00[JLFE B[] ElA:ic] 90.7 0 0 0 0 0] 10136 79
6:00 [ %% /& o[FadtPa Bl 90.7 0 0 0 0 0| 10138 79.2
: NES Ed 91.2 0 0 0 0 o] 10143 79.4
14|77 ] 89.9 0 0 0 0.17 0.17] 10145 79.6
3.2|FadLFE g A 70.4 5 04 0.4 1.08 1.25| 10143 79.5
2.9/Jt7E L 65.6 0 0.7 1.1 1.79 3.05] 10144 79.3
35[JtieF Jedbid 515 0 0.6 1.7 2.07 5.12 78.9
3.7|dtFE JtFE 47.7 0 0.7 25 2.23 7.35]  1013.8 78.4
37[dtHE it 46 0 038 33 257 9.92] 10132 77.9
33[dtFE B[ 49.7 0 05 3.8 1.7 11.62] 10129 775
4|dedem Pl A 45.1 0 0.6 44 1.75 13.37] 10126 77
24[JtJeF Pl Al 52.1 0 0.3 438 0.96 14.33]  1012.8 76.6
1.9[JLF B[ 55.9 0 0.2 5 0.52 1485  1012.8 76.3
2.1[JtF L& 59.7 0 0 5 0.03 14.88]  1013.2 76.1
2.8|FdLE [ Al 59.5 0 0 5 0 14.88]  1013.8 75.9
2.9|tF L 62.8 0 0 5 0 14.88] 1014.3 75.7
2.8|FdLE [ ] 65.7 0 0 5 0 14.88] 10145 75.6
22|F 7 68 0 0 5 0 14.88]  1014.3 755
I 2.5|FdLE 7 69.2 0 0 5 0 14.88]  1014.1 75.4
24:00:00|Fa L7 2.8|FdLE 7 723 0 0 5 0 14.88]  1014.1 75.4
[EPIEE]
SEHEA | T RGR | sormmesmn | SARMRE| SATHHEAN HExHREE BRI B B BfEIAS| Bit |[HihkE ERE
m/s m/s MJ MJ hPa %
Ty 2.2 69.3 1013.8 776
e [ i) 46[3t7 E[Ai] 915 1014.6 79.8
HCHF 12:07 6:53 : 8:01
xIE 44.2 1012.5 75.3
HEEF 14:57 : 23:58
BE 48 5 14.87 14.88
ELRSEEE (%)
[RE] &tx [ =mEXR | & | omm | = [ Emee | | dedtem [ dt B XA
AREEES1—)] 0] 0] 0.1] 0.8] 235] 18.6] 1.1] 11.3] 0]




